N Analogies @
Name Class Date

0 Circle the answer.
Heavy is to light as frigid is to
cold boiling

tired freezing

Q Circle the answer.
Partial is to complete as failure is to

Success error

divide bake

Precious is to valuable as commendable
is to

is to cake.

worthl(

praisews

€ write the

Carrot is

PREVIEW

Please SignIn or Sign Up to download
the printable version of this worksheet

)

e Write thekanswer.

Wind is to blows as
is to shines.

9 Turtle is to reptile as maple is to

syrup mammal

tree ocean

e Old is to ancient as glad is to
sad joyful

smile angry
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@ Write your own analogy.

is to

as

is to
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0 Circle the answer.
Heavy is to light as frigid is to

freezing

cold

tired

Analogies - Answer Key

Class

@

Date

6 Circle the answer.

Partial is to complete as failure is to

Precious is to valuable as commendable
is to

worthl(

( éraisewc

€ write the

Carrot is

colc

PREVIEW

Please SignIn or Sign Up to download
the printable version of this worksheet

)

o Write thekanswer.

Wind is to blows as
is to shines.

sSun

9 Turtle is to reptile as maple is to

syrup mammal

ocean

e Old is to ancient as glad is to

angry

sad

smile
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@ Write your own analogy.

open-ended isto open-ended
as
open-ended isto open-ended
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